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#include “REG52.H”

#tdefine KEY_VOICE_TIME 50

#define KEY SHORT TIME 20  //¥%48f0) “fHi%” # “uE¥” B “FaEmtia)”
#define KEY_LONG TIME 400  //#%8E[) “Ki%” e “IEm” 0 “FagnfiE”

void TO time();
void SystemInitial (void)
void Delay (unsigned long u32DelayTime) ;

void Peripherallnitial (void) ;

void BeepOpen (void) ;
void BeepClose (void) ;
void LedOpen P1 4 (void) ;
void LedClose P1 4(void);

void VoiceScan (void) ;
void KeyScan (void) ;
void KeyTask (void) ;

sbit P3_4=P374;
sbit P1_4=P174;

sbit ROW_INPUT1=P2°2: //#5 1 4{7#iAN,
sbit ROW_INPUT2=P2°1: //# 2 {T#iAN,
sbit ROW_INPUT3=P2°0; //# 34T#iAN,

sbit COLUMN OUTPUT1=P2°5; //& 1 %t 1.
sbit COLUMN OUTPUT2=P2°4; //& 2 Fl#H 1.
sbit COLUMN OUTPUT3=P2°3; //4 3 Fl#iH 1.

volatile unsigned char vGu8BeepTimerFlag=0;

volatile unsigned int vGul6BeepTimerCnt=0;



unsigned char Gu8LedStatus P1 4=0;
volatile unsigned char vGuS8KeySec=0; //#1x5KIZILH N4 F/AE vGuSKeySec FeAL #1485 E

void main ()

{
SystemInitial () ;
Delay (10000) ;
Peripherallnitial () ;
while (1)
{

KeyTask () ;
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void KeyScan (void) //u R BUBCE E I b 7 FLAE 1ms 4948 — IR
{

static unsigned char Su8KeyLock=0;

static unsigned int Sul6KeyCnt=0;

static unsigned char Su8KeyStep=1;

static unsigned char Su8ColumnRecord=0;

static unsigned char Su8KeyShortFlag S1=0; //S1 #4EEEH “HEig” fihkir&

switch (Su8KeyStep)
{
case 1:
if (0==Su8ColumnRecord)
{
COLUMN_OUTPUT1=0;
COLUMN_OUTPUT2=1;
COLUMN_OUTPUT3=1;
}
else if (1==Su8ColumnRecord)
{
COLUMN_OUTPUT1=1;
COLUMN_OUTPUT2=0;





















